[image: image1.jpg]o Discuss the ability of solving triangle XYZ in which :
y=9cm. and if it is possible » solve the triangle.
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[image: image3.jpg]> then the function g is

(@) an increasing function.

(©) an even function.






[image: image4.jpg]° Two forces of magnitudes 6 » 12 newton act at a particle » enclosed between them an
angle of measure 120°  find their resultant and measure of the angle which it makes

with the first forces.

° In the opposite figure :

The plane ABD [ the plane MCD = wooooooveeeees
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@ The forces 8 » 4V; B Gﬁand 14 newton act at a point » the measure of the angle
between the first force and the second force is 30° 5 between the second and the third

is 120° and between the third and the fourth is 90° taken in the same cyclic order.
Find the magnitude and direction of the resultant of these forces.

'0 If the geometric centre of a regular hexagon is the origin and its area = 31[? cm?
» then the equauon of its circumeircle is - .

.X'+y = @x +y?=4
@xl+y3=6 @x*+y*=8

@ In the opposite figure :
A right circular cone in which m (£ AMB) =30°

» the radius length of the base = 5 cm.

> then its total area = ««w-oveeevee cm?
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@ Two forces of magnitudes 6 » 2.5 newton the magnitude of their resultant = 6.5 newton

» then measure of the included angle of the two fOrCes i§ «reoveeeresee:
@ acute. @ obtuse. @ right. @ straight, ‘






[image: image5.jpg]o A body of weight 100 newton is placed on a smooth plane inclines to the horizontal
by an angle 30° » the body kept in equilibrium by a horizontal force.
Find the magnitude of this force and the reaction of the plane on the body.

G In a trianglular pyramid of regular faces » if the sum of lengths of its edges = 36 cm.
5 then the height of the pyramid = .............. cm.
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1 Prove that the two circles :

X2+y2-2X+6y+1=0 5 4X2+4y> 8X+24y+15=0
are concentric circles » and find length of radius of each of them.

G In the opposite figure :
The resultant of the forces 1092 » l()ﬁ
520 newton acts in direction «---oeee
@ the eastern north. @ the north.
@ the western north. @ the western south.

West

of radius of its base = r and its height = h the

h=2r h=2r
3

T If the volume of hemisphere of radius length “r”” equals the volume of a cone the length

@ In the opposite figure : ==
The condition of equilibrium of the given
forces is - -
(@) F = 10 newton. @®F= 1092 newton.
@ F =512 newton. @ the system will not be equilibrium.






[image: image6.jpg]Answer the following questions :

(@ 167 00=107F 5 g0 =log (Vx) sthen @0 NI =
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(a)sin B






[image: image7.jpg]Answer the following questions :

° Two forces magnitudes 5 » 3 newton and the measure of the angle enclosed between
them is 60° 5 then the magnitude of their resultant & equals
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e The height of a right circular cone is 12 cm. and the length of its drawer is 15 cm.

5 then its volume = «---creeveeie cm
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o The minimum value of resultant of two forces of magnitudes 5 » 9 newton and meeting
at a point equals - newton.
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@ The least number of planes can determine a solid is -~

@ three. @ four. @ two. @ five.

e A weight of magnitude 200 gm.wt. is suspended by two strings of lengths 60 cm. and
80 cm. » from two points on one horizontal line where the distance between them is 100 ci
Find the magnitude of tension in each string.

o Calculate the volume of a regular quadrilateral pyramid » the length of side of its
base = 18 cm. and the lateral height is 15 cm.

o In the opposite figure :
A vertical force of magnitude is resolved

into two components s one of them is

horizontal (F,) and the other F, » then F,= - newton.
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